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State whether each equation or function is linear. Write yes or no. If no, explain
your reasoning.

15 x+y=5 16 L +3y=-5
17. x+Vy=14 18. hx) =23 — 422+ 5
1. 50 =10+ % 20. f(x) = 63— 19
2L fx) =75 +x—1 2. y=V2x-5

23. Which of the equations x + 9y = 7, x2 + 5y = 0, and y = 3x — 1 is not linear?
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Write each equation in standard form. Identify A, B, and C.

27.y=-3x+4 2. y=12c

30.x=7y+2 3L 5y =10x— 25
1.1 _

33.§x+iy76 34.

36. 025 = 10 a7 S+ dy=3%

29. x=4dy-5
32 dr=8y—12
35. 05x=3

38. 0.25x = 0.1 + 0.2y
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Find the x-intercept and the y-intercept of the graph of each equation. Then graph
the equation.

39. 5 +3y =15 40. 2r — 6y =12 41 3r—4y—10=0
42.20+5-10=0 B.oy=x 4 y=4x—2
45.y = -2 6. y=4 47. x=8

48 x=1 9. fo) =4x—1 50. g(x) = 0.5x — 3
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